EARAROBREBRT —5 XN—ZXBISH—F 2022648148 (R 10AetE4E

mb‘73ﬁ3ﬁ —= 223RLE337HFKH ‘(9&1&} 8 ‘[%EH%F&] - |9 1200 B
[AXE%) 1 %:1,800,000H ~ 23%&:720,000 9  337%&:450,000H . 43#&:270,000 M 5 & :180,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
115l g | 7o7U7 # 3 gesggﬁz 1:17.3 432 | 40.6| - 1 478 %% i(@%)
: (=) _ k
R:IALINS Ry IR B:NTIWHLLF 4 (-1 R SY R
— . )| |32 1:17.8 5-4-4 409 - 2 | 486 |JIIBE— (#518)
F47J05— o 56.0 =
: (2172 ROBEE
R b e¥IO—U— XA 3D =X O g mm
- ° 4 3 | WOER 1:18.2 8-9-8 |40.5| - 5 457 | MIEA (#618)
s >0 @ (a) | Tl
JUA—v 8:10FH-L EEHIS
=_¢~ €y 3 | BRE 1:18.4 10-8-7 | 40.9| - 6 458 | S (AGHE)
/X\XL\j_’r/_ e B 56.0 (1172 (-12) |NEdEE
RixAI=ZI7—2 BASVIT Kol N4
S —SHR—2 i3 SUL{%!B\?% 1:18.5 9-10-9 |40.4| — | 12 | 445 ggf;ﬁ (w18)
: (1/2)
RimA—I—U—F BNRUN—ZTA O | Fa wms
— 4 3 | JIIBIEKRER 1:18.5 1=1-1 0.0 — 8 487 | LLEBEX (fotd)
6179 bF/TFLET 56.0 F9%) _g) | EPEER
RIRTVFLY 5V TUyIeAY g NS T
~ _2 it 3 | RES 1:18.6 12-12-12 [39.1| - 9 407 | WEY GEf)
715]5 4/73I:|_ 7\1_'\;9( L 540 A5 10 |EET
R:IVHh—0 B:4vHO-X NFAVRI YR
glgln| V—HLRE—R 3 ET%‘EE 1:(159).7 66-6 | 42.8| — | 11 | 435 IE:%E (A#8)
RUUTIAVIST R BILUTI—)L O 3g =
N - H 3 | AR 1:19.7 2-2-3 | 43.0| - 7 | 459 | EGEE (618
9710/ ¥vIOY o 56.0 e ) |RESE
RS /LY IVR B:F—ILFT]O EH OB
== S =~ # 3 | AHES 1:19.8 11-11-11 | 40.7| - 4 448 | RAEF (fots)
1084 2 :.7‘?)32'\71-:\/_ . 54.0 @) g5y | BEEE
RiFIVHh—T BIIWF—Ta—Y HH F5
— H 3 | Bt 1:19.8 355|429 — | 10 | 461 |BH—RI (HH)
nn E'jz e =gt~ %6.0 L) ( |EPEs__
R:bh—trIya—9gv B:=ZZAIU—-V VA9 TT—A
J_H_Ts ~ 3 | AEEX 1:22.9 7-7-10 | 45.4| - 3 488 | BHBE (018
12(8(12) FoAIT5ArY 5.0 (54) 1y | @) 9=
RPIPITATVA B:I—H=)b—Ia pelte]
@ 11— —BBIENI
13—7F—
20—3F— 9,10,1,6,4,11,12,7,3,8,2,5
30—7— 9,10,6,4,1,11,12,8,7,3,2,5
40—7+— 9,6,10,4,1,11,8,7,3,12,2,5
o ILRE
B B 6 2001 | | 94 R 4-6 230M4 % 5E 4-5 460M4 3EE 4-6-7 1,280
7B B 6 120/ 6-7 450/ B 5-4 780 3EH 6-4-7 4,940
4 150 4-7 600/ /B & 4-6 500
7 230M =51 6-4 600

ABCDOVTIRHTERERRODDZ, THERAILZETL



